RREEEAR (L) ARAF

fE e s MH-C MH-C2 Vert X 37E 24V PWM

BRSH BA

NEAETE 0...360 R b AL

WL ME(TEL) % of meas. range 0.3 B

MIEMERTFEENEL@ 360°) % of meas. range  *0.5 ol 44

AR 0.1 BHRARER

o PR bit 12

BAAESM ° 0.1 FRERLEN

PR AR KkHz (5) =P ER P68

BEE R AR KHz 1.66 FEAFEIT

BRI R G4 LR s (800) FEEMNBTR

BIEER RS EER s 4600 EEZ;}E

BWHESRARERK ppm/K 25 géfzﬁr;iﬁmﬁﬁ

MTTFd/MTBF years 240/ 240 ERE BAE D FEx

HEBEE VDC 8 35 (ME,EM;,U_\:LEEE’J%.)A
EREESAECENE S #

TH R BRI (typ.) BB mA (19) EAEE

T AR BRI FE(typ.) BEER mA 14

i &/ B R kOhm 10

AHERERAR nF 1

Bk T2 18 & 50 R kHz 0.1..1

B R AR M IR R A yes

BREEMD Wires (3x)

BIRLSEEBE mm2 0.56 (AWG20)

BAEEAZMD Cable 3pole

BRLGERE mm2 0.56 (AWG20)

TR yes

BREETR MO Wires (6x)

BRKGERE TR mm2 0.56 (AWG20)

BREZETREMD Cable 6pole

BBSWEEE TR mm2 0.25 (AWG24)

WSS

B ATE 360 (continuous)

Fiir &R IF68

B/NEwm movements no limitation

ITHENMEFRE °C -40 ... +85

IEC 68-2-6 #xz (Amax =0.75mm, f=5... 2000 Hz) ¢ 50

IEC 68-2-27 M 200

HETHE

EN 55022 class B, Emission radiated (30... 230 MHz) dB(uV/m) max. 30

EN 55022 class B, Emission radiated (230...1000MHz) dB(uV/m) max. 37

EN 61000-4-2, ESD (contact discharge / air discharge) kV +4/ £8

EN 61000-4-3, Immission HF radiated (80... 1000 MHz) V/m 30

EN 61000-4-4, Burst (on all lines) kV +1

EN 61000-4-5, Surge (lines to ground) KV +1

EN 61000-4-6, Immission HF conducted (0.15...80MHz) Vemk 10

EN 61000-4-8, Immission magnetic field (50Hz) A/m 30

IEC 60393-1 Insulation resistance (500VDC, 1bar, 2s) GOhm 20

IEC 60393-1 Dielectric strength (VAC, 50Hz, 1min, 1bar) KV 1

CONIELEC

A company of the Siedle-Group

TEL:400-800-5927 48T : 173 1638 6953 FEET:180 1936 4947 www.imcortech.net



RREEFEAR (LB FRAF

B T /5h 1E)
5 ¥R A 44X 3pole
7 Ak 44 5pole / 6pole
9 Wik R EBAEK &S
BREE/RR
4 ¥rAE B B4 3pole
A 6 Ak B B4 6pole
EME %6 E CWHR A1 9 HiE R BR B AR &4
IE [ % B CCWH %2
TR, IEM#EE CWH#£3
i B2
%, EMBE COWT 4 S
TR, XXESHETIES 03 3% 30cm
05 #7# 50cm
WHES 99 Wik BHKE
PWM Standard 4
BAKE
02 #5 1.0m
" 06 A& 3.0m
R B 10 Ti% 5.0m
24VDC Standard 1 99 Wik BHKE
VertX 3 7 Ei 4 7 3 6 1 4 1 5 0 5
BREA
36IR B SE A360°
xxA[#%£03 to 35; Declaration in 10° steps
QORI HRBREA
7 MH-C
HLAR 45 4 AR A<
37E1 Wik @R R E size 13 ; W H TN Mtype 1
37E2 ik A IR L $Esize 13 ; Wit 1T Mtype 2
37E4 ¥R R R $Esize 13 ; BEMEHITHLA type 4
37E9 Wik BB R BB RTIG
MH C MH C2
1T I B AT LA X
T oA = X
1T il e 88/ 4% X
PREAE SRR X
FFXRINEETTL (max. 2) X
SRS B &
BHRESHEA TE30°to 360° (BAI) X
HEEATRE (B4

IR RMA RANRE (&)
TE¥ B ACW/CCW AR E / Al 4w iE (MRS 1)
RE|IRARE ARE (FNKBLEKY)

TEL:400-800-5927 4FT : 173 1638 6953

EET:180 1936 4947

AR

n‘;"
=
Ic

Vert-X 37E - 24V /| PWM
PRk

ik (REEFER)

CONIELEC

A company of the Siedle-Group

www.imcortech.net



RRBIEEAR (L) FRAF

*
| :

Vert-X 37E4 xxx xxx 5xx
Vert-X 37E4 xxx xxx 7xx
B (incl.)
Finbaumass [ tdz 1x BEXF
) T - = 2x T FE ST 2 IR 4 M5x12
working position 16
M5 | | THUEZ) M BERTHIE
- 21; 3 B K R4
l — R 15 g SEREEFER
of | CHE |
= N
Lo O‘?‘ :— ajl - i
- o =TT 1T «
S| o % | s =
| 7 HAn O \
e v
G HURIE
j 4 H
||| #5Tiefe 5 12
$ 26 19,4
Vert-X 37E4 xxx xxx 4xx
Vert-X 37E4 xxx xxx 6xx
B #(incl.)
EmEaumaSS - LN o # L 3 4 AM 512
SW 13 working posilion 16 -
== THEMEZ) M BERITIN
21,3 B K f ¥ 48
- ] . - -— SEREER
x s
k| 16
0 -1 “CHH - -
= N
sl w25 [|llotE '
- | el re 1 o«
- 3 =0 s =
S ™ _STHA \
~ T Y~
l L HH
=
v Hh
@5 Tiefe b 12
826 24

A company of the Siedle-Group

TEL:400-800-5927 48T : 173 1638 6953 FEET:180 1936 4947 www.imcortech.net



RRBETEHFEAR (LB FRA

Finbaumass ~ [rdz
W1 working position 1,6
B NI
Rl 77
6| | 1 =] Sy
Sed I 1
s dH 1
|1 NN
= 4]
" || @5 Tiefe 5 12 168
. 826 19,4
. Finbaumass [ #dz .
.;SW 10_‘_ working position 1,6
-l 4
O — - o3
f'\/ L] — 11 HE=Ss
) ©- o1 <CHAR F?
» S\ 3l \ SIS
/ | | a Y _L
| @ ) e 1 Ul [
N 2| ‘
‘w’/ ™ JT L 1
| sy n
\m/ L=t 1 |
@5 Tiefe 5 g2 1)
g 26 2,

TEL:400-800-5927

4FT : 173 1638 6953

EET:180 1936 4947

|

)

-~
—-—_
r

c

Vert-X 37E1 xxx xxx 5xx
Vert-X 37E1 xxx xxx 7xx
B #E(incl.)

1Ix BEXRF

2x gL E IR 4 M5x12

THRALEZ) M #ERTHG
BRIV
SEREER

Vert-X 37E1 xxx xxx 4xx
Vert-X 37E1 xxx Xxx 6xx

B (incl.)

1Ix BERXRF

2x w FE R I 2 IR 2 M5x 12
TEEZ) M BERTHIG
BRI

SEREER

CONIELEC

A company of the Siedle-Group

www.imcortech.net



RREEFEAR (LB FRAF

Vert-X 37E2 xxx xxx 5xx
Vert-X 37E2 xxx xxx 7xx
B2 (incl.)
Einbaumass /! tdz 1x BlERF
= I - e 2x B R S IR 4 M5x12
working posilion g
1 6——'—-'— T B(Z) 7 B RATHLI
Wi - |3 B K S i 4
[ o SEREEER
) —H+ i
[} HIL to)
o g
S T [
= 11| S B & R R
[_\J I__ . N
s | 0| B LJ‘_Tf 1= (=2 Iy g A
o A i |
8, HURIE
Y Sy Nyl
— j_O, )
o | ‘®5Tiefe 5 _12_ ‘?5,6_
926 o i
Vert-X 37E2 xxx xxx 4xx
Vert-X 37E2 xxx xxx 6xx
B4 (incl.)

: 7 1x B E X ¥
Einbaumass Lt - 2x 5 8 L % 98 44 M5x 12
workin osition

_3—>]_M3 I P 15— 8 | Tt EZ) W R
- 3 BOA £ i 42
- “; SERZEEFR
| —HH =
N <HIE 5
5 i
L0 oo r “ T “ Jl \
e A T R e e
o ] Q =AY
sl | o LJ‘,Tf ik =2y il i
IS it
™ JT 1
| Y NNl
—J;— = 10,5
| 5 Tiefe b 12 NN
P b - 24 .

A company of the Siedle-Group

TEL:400-800-5927 48T : 173 1638 6953 FEET:180 1936 4947 www.imcortech.net



RRBIFEHEAR (L) FRAF

Vert-X 37E4
REEE
TEME(Z)
%J MH-C 3.85mm
—+I MH-C redundant 4.35mm
™~
A BAMRAT IR B K A1 4830
dx +0.25mm
dy +0.25mm
dz +0.5mm
Vert-X 37E1
REREER
THEMEZ)
MH-C 4.95mm
MH-C redundant 5.45mm
N I
Y ' / ' BEATHIIRA A Y630
M ; dx +0.25mm
| dy +0.25mm
dz +0.5mm

CONIELEC

A company of the Siedle-Group

TEL:400-800-5927 48T : 173 1638 6953 FEET:180 1936 4947 www.imcortech.net



ST

10

N ! <«
'
1 , '
i '
33,8
L0 Lo - =
= e
| B ,
|
61, 4 B

TEL:400-800-5927

4FT : 173 1638 6953

EET:180 1936 4947

RREEFEAR (LB FRAF

-

=

| )
Vert-X 37E2
RZEREER
TENMEZ)
MH-C 6.45mm
MH-C redundant 5.95mm
RTINS K iR
dx +0.25mm
dy +0.25mm
dz +0.5mm
Vert X 37E

CONIELEC

A company of the Siedle-Group

www.imcortech.net



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7



